Male Reproductive physiology

1-The most active form of testosterone in males is
A- Testosterone it-self

B- Dihrotesetone

C- Testosterone bounded to sex binding protein 

D- Testosterone bounded to Albumin 

E- None of above 

2-reagarding spermatogenesis choose the correct statement 

A- It occur in childhood

B- It is made by the leyding cells

C- It takes about 2 weeks

D- Its stimulated by FSH

E- Its stimulated by semen 

3- which of the following is considered seminal vesicle action 

A- Secret prostaglandins

B- Secrets fibrinogen

C- Secrets fructose 

D- Secret citrate

E- All of above

4-reagarding regulation of spermatogenesis choose the correct statement 

A- GnRH( LH( leyding cells (spermatocyte formation  

B- GnRH(LH(leyding cells ( testosterone 

C- GnRH(FSH(leyding cells(spermatocyte formation 

D- GnRH(FSH(sertoli cells ( testosterone

E- GnRH(LH(FSH(sertoli cells testosterone
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5-Which of the following inhibits FSH secretion
A- inhibin  

B- Testosterone

C- Sperms 

D- Spermatozoa 

E- Spermatocyte 

6-most sperms are stored in the :
A- Epididymis 

B- Vas deferens

C- seminal vesicle

D- prostate 

E- urethra 

7- regarding prostaglandins choose the correct statement
A- its secreted by the prostate 

B- it decrease the viscosity of the of the mucus in the cervix 

C- stimulate reverse peristalsis in the uterus 

D- facilitates  movement of the sperms 

E- all of above

8- all of the following are infertility symptoms except:
A- More than 50% of sperms are nonmotile

B- More than 50% of sperms are abnormal 

C- 18-20miloin sperms in 5 ml semen 

D- 200miloin sperm in a 5ml semen 

E- None of above 

9-all of the following is a testosterone effect except :
A- Musclization

B- Formation of the External gentiles in the fetus

C- ↑RBC formation

D- ↑fertility 

E- ↑ GnRH in blood
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10- which of the following is not secreted by the Sertoli cells 

A- inhibin 

B- ABP( androgen-binding protein) 

C- MIC

D- Estrogen

E- Testosterone 

11-the spermatozoa gets motile in the :
A- Testes 

B- Epididymis

C- Seminal vesicles

D- Ejaculatory duct

E- Spermatozoa are never motile 

12-All of the following are important for normal spermatogenesis except
A- FSH

B- LH

C- GnRH

D- hCG

E- testosterone 
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